BEEEHENX

NSBEERFKS BEBBARE
(B)&Fn 4% 48 1H (B)SFn 54 3H31HA
(AL
e e BEEEEE |BENEXETEE NEY s —FE
IV 49,140
NHERRE L 15,974,595 183,348,890 25,000
J?L g ERFEI I 7,948,647
E Y- ERTEBRAE (1) 23,923,242 183,348,890 74,140
{E| (AR 16,829,221 131,957,200
;% BER 865,258 6,033,048 30,253
B HEE 652,035 5,416,449 60
o | | BATE En 168,297 1,685,019
| EEHESEES SR 78,387 484,946
P RATREVE R (2) 18,436,424 144,608,770 30,313
— A EEHE B ERE (3)=(1)-(2) 5,486,818 38,742,120 43,827
S HFIEE Y &I 53 324
?L . F DM O — ¥R TEEIM R 5,874
P A
% Y B AE BN (4) 53 6,198
#)
@
W |H
)
il Y- X EBHN B 6)
P B ATEESME W ERR (6)=(4) - (5) 53 6,198
% B IR 2 %E ()= (3) + (6) 5,486,871 38,748,318 43,827
HEER B SR B A 3% 949,000 4,749,000
BEXSHEEREL BN 762,050
% Z OO RERNN 130,000
i
7l RN IR E (8) 1,079,000 5,511,050
S EEEER AR AR 1 5
o | |EERHB &SRR L &TE L 949,000 4,749,000
= %’ HERSEBEASE M 7,083,220 47,186,367
BERSGHECEEBREER 762,053
e AR 9) 8,032,221 52,697,425
ReRIEETHzE4E (10)=(8) - (9) /\6,953,221 47,186,375
L TR RN R (1) =(7) +(10) 1,468,350 /\8,438,057 43,827
H AR BETE B R (12) 5,371,721 50,147,641 175,368
W | S ERAS B AR (13)=(11) +(12) 3,905,371 41,709,584 219,195
B EAS B (14)
B [ERBURGE (15)
1 | O OFESL G HUAAEE (16)
g Z O DR &R (17)
i)
D
Tk
TR 1 R B B a4 (18) = (13) + (14) +(15) +(16) - (17) 3,905,371 41,709,584 219,195




NIREELHRKR Sy FEEBANRE
(E)4STn 448 48 18 (B)SH o4 3A31H

BB E N

(B2 M)
BEF E A5t SEIEINES HERSAEF
FREINIE 49,140 49,140
ERRE RN 199,348,485 199,348,485
Jr{ % ERE LN 7,948,647 7,948,647
; Y- CAEBIR AR (1) 207,346,272 207,346,272
| (AN 148,786,421 148,786,421
EOIE = ¢ 6,928,559 6,928,559
ﬁ BEEE 6,068,544 6,068,544
o | A | DRk A 8 1,853,316 1,853,316
| |EEESSEESI SRR /563,333 563,333
—EAEEE A (2) 163,073,507 163,073,507
P — vV RAIEEE I ERE 3)=(1)-(2) 44,272,765 44,272,765
SRR REL Y SN 377 377
4{ . F OOV — A TREIN R 5,874 5,874
BNE
{; Y- A IEESMAR E (4) 6,251 6,251
@
"
V8 |
D)
il Y—E R EBN R (5)
P B AVEENSME R (6)=(4) - (5) 6,251 6,251
TR H R () =(3)+(6) 44,279,016 44,279,016
MaER B R S B &I 2 5,698,000 5,698,000
BERSMEEREBE I 762,050 762,050
% = O ORI IR 130,000 130,000
i
Al R AEET (8) 6,590,050 6,590,050
EE T 6 6
O\ |BEMBE&ERHBIESLSHELE 5,698,000 5,698,000
B %’ BERSMBASEA 54,269,587 54,269,587
HERXRSHEEEESERR 762,053 762,053
I SR C) 60,729,646 60,729,646
B T 2 4E (10)=(8) - (9) 54,139,596 54,139,596
YR B IR EE (11) = (7) +(10) /\9,860,580 /9,860,580
AR AR R B I =R (12) 55,694,730 55,694,730
| X4 HA R AR BTE B B SRR (13)=(11) +(12) 45,834,150 45,834,150
ARG TR (14)
B R EARGT (15)
2 OMOFE & AR (16)
g%@m@ﬁﬁﬁﬁﬁﬁuﬂ
]
)
b2
kB AR TE B T 22 (18)=(13)+ (14) + (15) +(16)~ (17) 45,834,150 45,834,150




